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Which of the following structure is absent in bacterial cells?

(1) Ribosomes Nucleus

(2)

(4) Cell wall

(3) Plasma membréne

1 (3) Smooth

— 2. | The movement of water across semipermeablé membrane is called:
(1) Diffusion 2 Osmosis
(8) Active Transport | (4) Facilitated diffusion
3. Polymorphism is best exhibited in:
1 (1) Obelia (2) Hydfa
3) Ph&salia (4) Aurelia |
4, Gymnosperﬁs are charactgrized by:
(1) Naked seeds @) Enclosed seeds
(3) Flowers (4) * Fruits
9. Which of the following 1s a cdmplex permanent tissue?
(1) Parenchyma (2) Collenchynia
(3) Sclerenchyma 4) Xylem
6. | Following is involuntary muscle found in hollow organs:

Cardiac

(2)
4)

(1) Skeletal

Striated
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7. Which tissue helps in disporsel of seed?
(1) Endosperm (2) Embryo
3) Perioarp (4) Cotyledon
8. Which structure prevents self-pollination irr plant.s?
(1) Ovule ' (2) Petal
3) Self—incompatibility gene (4) Integument
9. Which among _the following is‘true about cleisto;gqmous ﬂowers?
(1) Promote cross-pollination @) Alwa;rsf ‘open for pollinators
(3) Do not reqﬁire pollinators 4) Do not;ﬁ:roduce seeds
10. The acrosome of sperm is derived from: T
(1) Mitochondria (2) Golgi apparatiis
(3) Nucleus : | ' 4) Lysosome "‘-._'.:-
11. Menstruation is due to sudden drop of: -
() FSH (@ Estrogen
3) LH | ' ' @) Progesterone
12. | ‘

Fertilization occurs in which part of the fallopi_an tube:

(1) Infundibulum | 2 Ampulla

(3)> Isthmus i ' (4)°  Fimbriae

UG—EE-2025 (Bachelor of Science (Genetics)) Code—A
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13. | ART used for male infertility where sperm is dlrectly 1n;ected into the

ovum:
1 IVF (2) ICSI
(3) GIFT - (4) ZIFT

}4. Artificial seed production uses:

(1) Pollen | ) Somatic embryos

(8) Owvules . o . (4) Zygotes

15. In angiosperms, triple fusion results in:
1 Q) Zygote - (2)  Ovule

(3) Endosperm . "~ (4) Embryo sac

16. Which organism can reproduce through binary fission and also form

| spores?
(1) ‘Paran:-lecium ' | (2) Amoeba
(3) Rhizopus o . A @) - Plasmodium

17. | Which of the following is a bacterial STD?

1@ AiDS | m L . (2) - Herpes

(3) 'Gonorrhea (@ Warts

UG-EE-2025 (Bachelor of Science (Genetlcs)) Code-A .
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18. Apomixis is used in hgric’:ulturé to :
(1) Increase hybrid vigor

(2) Increase recombination

(8) Avoid fertilization

(4) Produce genetically variable seeds

19. Fragmentation occurs in:
(1) Hydra (2) Spirogyra

(3) Amoeba \ ‘ (4) Yeast

20. The function of the synergids in the eﬁbryo saé isto:

(i) Produce 'endosp’erm‘ |

(2) Helpin ferfilization by guiding pollen tube

(3) Develop into zygote \, - . e aaT ¥

(4) Form antipodals

21. | Which of the following is an outbreeding device?
(1) Bisexual flower | o (2)  Self-incompatibility

(3) Fertilization (4)  Anther dehiscence

22, Double fertilization is a characteristic feature of :
(1) Gymnosperms (2) Bryophytes

(3) Angiosperms | (4) Algae

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
R (4)
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23. Which of the following disorders is caused by a sex-linked recessive
gene? | |
(1) Thalassemia (2) Sickle cell anemia-
(3) Haemophilia (4) Down’s syndrome
[ 24. In polygenic inheritance, the phenotype is influenced by:
(1) A single dominant gene (2) A single recessive gene
(3) Multiple genes (4) Environmental factors only
[ 25. The packaging of DNA into chromosomes involves:
(1) Lipids - (2) ‘Non histones
(3) Histone pfoteins | (4) RNA polymerase
26. - DNA replication is:
(1). Conservative (2) bDispersive
3) Semiconsefvative p (4) Degenerative
217. Which syndrome is caused by thé presence of an extra X chromosome

in males?

(1) Turner’s syndrome (2) Klinefelter's syndrome

(4) Edward's syndrome

(83) Down’s éyndrome

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
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28. The Hardy-Weinberg principle is applicéble under:
(1) Natural selection

(2) Mutation

(3) Large ﬁopulation without mutation

(4) Gene flow

29. The Lac Operon is an example of :
(1) Gene ampliﬁcatiqh : (2) Gene deletion
(8) Gene regulation (4) Gene mutation

30. |Who first performed the experiment demonstrating bacterial

transformation?
(1) Griffith | (2) Hershey
3) AveryA (4)  Watson

31. The central dogma of molecular biology is :
(1) DNA — RNA - Protein (2 RNA — DNA — Protein

(3) Protein >RNA5>DNA (49) RNA - Protein —» DNA

32. Evolution through mutation and recombination is explained in:

4(.1)-. Darwin’s theory (2)  Modern synthetic theory

B 3) . Lamarkism ‘ (4)  Catastrophism

UG—EE'—2025 (Bachelor of Science (Genetics)) Code-A
; ‘ ; (6) o
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Which of the following is a chromosomal disorder?

33.
(2) Thalassemia

(1) Haemophilia
4)

(3) Colour blindness Turner’s 'syndrome

by the presence of similar

34. |Wh
anatomical features in different species?
(2) Adaptive radiation

(1) Divergent evolution

(3) Convergent evolution (4) Artificial selection

35. | Thalassemia affects:

(1) Blood clotting (2)  Melanin production

(3) Hemoglobin formation (4) Bleeding disorder

Which of the following is a mechanism of evolution?

36. ’
(1) TFood chain (2) Reproduction
(3) Natural.s_.election (4) Carbon dating

87. | Genetic drift is most likely to occur in: |

(1) Large populations

Populations under selection pressure

2
(8) Small isolated populations

(4) Mutated populatiohs only

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
(7) |
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38. Typhoid is transmitted primarily through:
| (1) Insect bite (2) ‘Contaminated water
(8) Sexual contact R (4) Aif droplets-
- 39. Ringworm is caused by a - e
(1) Bacterium | ‘ (2) | Virus
(3) Protozoan‘ ; | _ (4)  - Fungus
40. | .Vaccines developmenf is by stimulating: |
(1) Toxin production. | (2) Pathogen githh
(3) Immune response (4) Hormone secretion
41, HIV primarily attacks which type of immune cells:
(1) B-Cells ' | - (2) Cytotoxic T-cells
(3) Helpér T-cells | o (4) Natura!l fkiller cells
42. | Adolescence is the period betWeen the ages of 3 “
(1) 6-12 yéars | (2) 10-19 y’éars
(38) 18-25 years | 4) 1-5 yée;rs
43. | Long-term alcohol abuse can be de‘tected l;y dysfunction of :

(1) Lungs (2) Liver

3) Pancreas (4) Intestine

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
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44. Which of the following is used in single-cell protein production?
(1) Saccharomyces cérevisiae (2) Rhizobium
(3) Mucor (4) Spirulina
45. | The aim of biofortification is to :
| (1) Increase food yield (2) Increase taste of food
(3) Improve nutrient quality (4) Decrease fertilizers
46. Apicu_lture,involves the management of :
(1) Silkworms | (2) Honeybees
(3) Fish | a (4) - Poultry
47. | Artificial insemination is commonly uséd in:
(1) Animal tissue culture ) Animal husbandry
3) Clohing ' (4) Cross—pollination
48. Lac'tobacillus ié important in the production of :
(1) Dhokla = - (@ Dosa
(3) Yogurt | (4)  Soft drinks
49. Methéne 18 produced dufing sev;/age treatment by:

(1) Methanogens (2) Cyanobacteria

(3) Fungus . 4) Algae

UG-EE-2025 (Bachel‘or of Science (Genetics)) Code—A
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50. Trichoderma spcmcs act as:
(1) Antibiotic producers (2) Biocontrol agents
(3) Fuel producers (4) Vitamin supplement
Bt \ﬁﬂc:hﬂ't;c:.l“ln{q‘_ﬁe_l's pI;x_n.n 1ly used in recombinant DNA techr—u;l_og?’ o
(1) Southern Blotting (2) PCR
(3) Gene cloning (4)  Northern blotting
52, | Bt toxin gene has been cloned from: - v . L . ok
(1) Agrobacterium (2) Rhiquium
(3) Bacillius ‘éhuringiensis- (1) | Escherichia coli
53. What is fhe main purpsse of gene ther;dpy? :
(1) Replace defective genes | (2) Clone organisms
3) | Cure disevas.e; A (4) - Create Super genes
- 54. Golden’rice isa genefically modiﬁed crop rich in:
(1) Iron (2) Vitamin A
(3) Vitamin C (4) Calcium
55.

Which of the following organism is used for producing human insulin?

(1) Agrobacterium (2)

Bacillus

(3) E. coli 4)

Yeast

UG-EE-2025 (Bachelor of Smence (Genetlcs)) Code-A
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56. - | Biosafety protocols aim to :
(1) Improve productivity (2) Protect biodiversity
(8) Reduce pollution : (4) Enhance shelf-life
57. The term ‘biopiracy’ refers to :
(1) Illegal cloning
(2). Patent violation of indigenous knowledge
(8) Unsafe vaccines
. (4) Unauthorized use of antibiotics
58. In genetic engineering, restriction enzymes are used to :
(1) Join DNA 2) Ligate DNA
. |(® CutDNA | .~ (4) Denature DNA
59. Bt crops are genetically modified to :

(1) Increase nutrient content (2) Resist herbicides

(8) Produce insecticidal protein (4) Resist viral infections

=

A vector must have which one of the following features:

@ Small size & Origin of replication

(2) Origin of replication & antibiotic resistance
(3) Small size & Antibiotic resistance gene

4) Antibiotic resistance

i

UG-EE-2025 (Bachelor of Science (Genetics)) Cod
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61. The role of Agr obacteuum tumefaciens in genetic engmecrlng is :

(1) Antibiotic production (2) . Inducing tumors
(3) Delivering gencs (4) Inducing fertilization

- TR . . )
What type of vaccine is produced using recombinant DNA technology

62.
(1) Killed pathogen (2) Live-attenuated vaccine
(3) Subunit vaccine Q) ~rI‘oxoid‘vaccine |
63. Thg primary goal of the Human Genome Project was to
(1) Cl.'eat(.a synthetic DNA
(2) Identify all génes in human DNA
(3) Cure genetic disorders
(4) 'Engineer superhumans
64. | Which method is coinmonly used to insert foreign DNA into cells?
(1) Centﬁfugation (2) | Elec.troporation
(3). Chroma£ography | ’ | .'(4) Spéctroscopy
65. | Which is a concern associated Witil GM crops?

(.1) Reduced yield (2) Nutrient deﬁcienc'y

1(3) Biosafety and ecoldgical impact (4) Short' shelf lifé

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
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66.

Which of the followinchst defines a niche in ecology?
(1) Total area occupied by a species

(2) Role and position a species has in its environment
3) Number of individuals in a population

(4) Type of food consumed by the species

R

67.

In mutualism,

(1) One species benefits, the other harmed .

(2) Both species are beneﬁttéd

(8) One species benefits, the other unaffected

(4) Both species are neutral

F 68.

Which of the following is NOT a density-dependent population

attribute?
(1)  Birth & death rate 2) Popﬁlafion density

(3) Species distribution '(4) Earthquake

69.

The pyramid of biomass in terrestrial ecosystem is :

(1) Always inverted (2) Always upright

(3) -Diamond-shaped (4) Not defined

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
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70. | Which of the following cycles does carbon fixation belong to?

1(1) Nitrogen cycle - (2) Phosphorus cycle

(3) Sulphur cycle (4) Carbon cycle

71. Primary produ,ctiuity' refers to :

(1) Enérgy released during resﬁiration

(2) Energy available at the top level of pyramid
(3) Amount of biomésé produced by consumers

(4) Rate of biomass productioh by producers

72. | The term “hotspot” in biodiversity refers to..areaé that :
(1) Are extremély hot‘ |

(2) | Have low biodiversity & more habitant

(é) Are rich in endemic speciés aﬁd under threat

(4) Have only endangered Species- R

73. | Red Data Book is maintained for :
(@) Extinct animals (@) Extinct plants

(3) Endangered species .‘ (4) Living fossils

74. Which zone has maximum biodiversity? |

(1) Arctic & Antarctica (2)  Desert ecosystems

(3) Temperate forests ' (4 Tropical rainforests

UG-EE-2025 (Bachelor of Science (Genetics)) Code_A
1 |
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75. -§VE;§;§;SISrﬁ;ﬁh;iﬁ;bonsﬂﬂefblOlaﬁélg;é;éﬁiﬁéhoaaﬂ
1) CO, (2) CHas
3) CFCs 4) SO:
76, | 7\~n-gxample of in stu biodiversity conservation is :
(1) Seed bank (2) Botanical garden
(8) National Park (4) Zoological par}_{
717. The main cause of radioactive increase in the envi‘romﬁent is :
(1) Automobile exhaust - (©Q) Nucléar power piants
.(3) Ozone depletion 4) Open defecatlon
78. Which of the followmg pollutants is pr1mar11y responsible for acid
rain? | -
(1) CO: i o @ SO0:
@ 05 - . @ CH:
7 9 Which of the fbllowiné_ is .a éonéequénce qf deforestation‘?

(8) Soil erosion :

¢)) Increased ozone

(2) Enhanced carbon fixation

(4)- Decrease in greenhouse gases

UG—EE-2025 (Bachelor of Science (Genetics)) Code-A
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80. | Which of the following is an effect of the greenhouse effect?
(1) Ozone formation
(2) Increase in Earth’s average temperature
3) Ozop’e hole
(4) Desertification in polar .regions
81.

Which of the following is a property of crystalline solids?

(1) Irregular shape (2)' “Sharp melting point

3) ISOtrOpiC nature . .(4)° No definite structure

82. An example of an amorphous solids is :
(1) Quartz (2) Swugar

(3) Glass , . 4)

- Diamond

83. Which of the following is not a type of binding force in solids ?
(1) Ionic . : (2) Metallic

(3) Hydrogen bonding - - (4) Gravitational

84. Which of the following represents a suspension?

(1) Blood (2) Muddy water

(3) Salt in water Co(d) v Adr

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
(16)
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85. A true solution is :
(1) Heterogeneous and transbérent
(2) Homogeneous and transparent

(3) Heterogeneous and opaque

(4) Homogenecous and opaque

~ 86. | A characteristics of lyophobic colloids is :
(1) High stability (2) Strong affinity to solvent

(3) Easily coagulated ‘ 4) Self-preparing

87. Which law states that the mass of substances deposited during
electrolysis is proportional to the quantity of electricity passed?
(1) Ohm’s law (2) Faraday’s first law

(3) Faraday’s second law | 4) Ai'ogadro’s law

88. A substance used to destroy or inhibit microbes on living tissues is:
(1) Disinfectant (2) Antiseptic

(3) Antibiotic | (4) Preservative

UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
- (17)
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89. Antacids help to relieve:

(1)n 'Bacterial infections ¥ 5 (2) Allergies
(3) Headache (4) Acidity

90. . | Which is not an artificial sweeétening agent?
(1) Swucralose » R (2) Saccharin
(é) Glucose | | e 4 ¥ A(4) Asﬁartam'e

91. Preservatives in food preveﬁt :

(1) : Change in flavor (2) Growth of microorganisms

(3) Oxidation . (4) Emulsification

92. | Which is a commonly used antioxidant in packaged food?

(1) BHT (2) Vitamin B complex

| ) Sodium chloride (4) Lactic acid

93. | Which is a disinfectant?

‘ (1) Silver nitrate

1(2) Tincture iodinp

(3) Hydrogén pero;cide (strong solut";ion)

(4) Zinc

‘UG-EE-2025 (Bachelor of Science (Genetics)) Code-A
(18) ‘ |
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(1) Hydrophilic head

1® ‘Hydrophobic tail

Which soap molecule part interacts with oil and grease?

(2) Ionic group

(4) Water molecule

: 99 Electrolysis involves:
(1). Magnetic field
- {(2) Heat conduction

(3) ‘Chemical decomposition by electricity
(4) Radioactivity |

96. | Which of the following is an example of a macromolecular colloid?
@ Mk 2 Rubber
(3) Smoke : 4) Fog

97. | Which compound can be used as both antiseptic and disinfectant? -
(1) Hydrogen pefoxide (2) Peniciilin
(8) Sodium benzoate | _ (4) Ampicillin

98. | The basic unit of a crystalline solid is célled:

1(3) Atom 4)

(1) Lattice point (2) Unit cell

Molecule

UG-EE-2025 (Bachelor of Scien

ce (Genetics)) Code-A
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| Which of the following best describes soaps?

(1) Acidic salts of long-chain fatty acids
(2) Basic salts of fatty acids
(38) Neutral esters

(4) Acidic & Esters

SET-X
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100.

Macro element essential for plants is -

(1) iron (2) Zinc

(3) Calcium (4). " Copper
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1. Primary productivity refers to.:
(1) Energy released during respiration
(2) Energy available at the top level pf pyramid
(8) Amount of biomass prdduced by conéumers
(4) Rate of biomass production by producers
2. The tefm “hotspot” in biodivefsity refers to areas that.:
(1) Are Oextremely hqt
(2) Have low biodiversity & more habitant
'(3) Are rich in endemic species and under threat b
(4) Have only endangered species
_3. Red AData Book is maintained for :
(1) Extinct an'ixﬁals ' (2) Extihct plants
(3) 'Endangered species (4) Living fossils
4, Which zolnve has maximum biodiversity?

(1) Arctic & Antarctica (2) Desert ecosystems

\

(3) -Temperate forests A (4) Tropiéal rainforeéts

UG-EE-2025 (Bachelor of Science (GéneticS)) Code-B
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5. Which gas is mainly responsible for ozone layer depletion?
(1) CO2 . | (2) CHa
3) CFCs 4) SOy

6. An example of in situ biodiversity conservation is :
(1) Seed bank (2) Botanical garden -

3 National Park ' (4-)‘ ‘Zoological park

7. | The main cause of radioacti"ve increasé in ihe environment is :
(1) Automobile exhaust - .' (2) Nuclear power plants
(3) Ozone depl‘etion 3 ~ (4 Open defecation

8. Which of the following pollutants is primarily respohsible for acid
rain? |
weon @ oso
3) Os : ' (4) CHgs

9. Which of the following is a consequence of deforestation?

(1) Increased ozone
(2) Enhanced carbon fixation
(3) Soil erosion

(4): Decrease in greenhouse gases

. UG-EE-2025 (Bachelor of Science (Genetics)) Code-B
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10. Which of the following is an effect of the greenhouse effect?
(1) Ozone formation
(2) Increase in Earth’s average temperature

(3) Ozone hole

(4) Desertification in polar regions

11. Which technique is primarily used in recombinant DNA technology?
(1) Southern Blotting (2) PCR

3) Gene cioni'ng . I (4) Northern blotting

12. | Bt toxin gene has been cloned from:
(1) Agrobacterium ~ (2) Rhizobium

(3) Bacillius thuringiensis -(4) Eschéfichia coli

e e——
J e ——

13. What is the main purpose of gene therapy? -
(1) Replace defective genes : (2)' Clone organisms

3) .Cur‘e disease @ Create Super genes

14. Golden rice is a genetically modified crop yich in:.
(1) Iron | (2) Vipamin A

(3) Vitamin C 4) Calcium

UG-EE-2025 (Bachelor of Science (Genetics)) Code-B
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15. | Which of the following organism is used for producing human insulin?
(1) Agrobacterium (2) Bacillus.
(38) K. coli (4)  Yeast
16. Biosafety protocols aim to :
(1) Improve productivity (2) Protect biodiversity
| ®) Reduce pollution 4) Enhénce shelf-life
17. ’fhe term ‘biopirac;y’ refers to : —
(1) Illegal cloning
1) * Patent violation of indigenous knowleage
(3) Unsafe vaccines
(4) Unautho_rized use of antib‘iotics
18. In genetic engineering, restriction enzymes are ﬁsed to:
(1) Join DNA | (2 Ligate DNA
(3) Cﬁt DNA ' (4) Denature DNA
19. | Bt érops are genetically inodiﬁgd to
('1) Increase nutrieﬁt content (2) Resisﬁ herbicides
(3) Produce insecticidal protein  (4)  Resist viral infections

/¢ UG-EE-2025 (Bachelor of Science (Genetics)) Code-B |
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 20. A vector must have which one of_—tﬁcﬁz—fc‘)ﬁawmg fcatm es:
(1) Small size & Or'igin of replication
(2) Origin of replication & antibiotic resistance
3) Sniall size & Antibiotic resistance gene,
(4) Antibiotic resista'nce
21. The central dogma of molecular biology is :
(1) DNA — RNA - Protein (2 RNA — DNA — Protein
(3) Protein - RNA — DNA | (4) RNA — Protein - DNA

22. | Evolution through mutation and recombination is explained in:

(1) ‘Dgrwin’s theory | " (2) Modern synthetic theory
3) Lama’rkism . (4) Catastrophism
23. Which of the following is a 'chr'omosomrlal disofder?
(1) Haemophilia o (2) | Thalassemia
(3) Colour b1;1ndness : | (4) ' 'Turnér’s syndrbme

anatomical features in different species?

(i) Divergent evolution (2) Adaptive radiation

Artlﬁmal selectlon

24. | Which type of evolution 1is indicated by the p1esence of &mﬂeuX

(3) Convergent evolution’ | | (4)

UG—EE-2025 (Bachelor of Science (Genetlcs)) Code-B
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25. Thalassemia affects:

(1) Blood clotting (2) Melanin production

(3) Hemoglobin formatioﬁ (4) Bleeding disorder
26. Which of the following is a mechanism of évolution?
| (1) Food chajn | (2) Reproduction
(3) Natural selection ') Cérbon datiné

27. Genetic drift .is most likely to occur in:

(1) Large populationg

(2) Populations under selection pressﬁré
(3) Small isolated populations

(4) Mutated populations only

28. Typhoid is transmitted primarily through:

(1) Insect bite | (2) Contaminated water

3) Sexual contact (4)  Air droplets

29., | Ringworm is caused by a :

(1) Bacterium . (@)  Virus

Fungus

(8) Protozoan | (4)

UG-EE-2025 (Bachelor of Science (Genetics)) Code-B
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30. | Vaccines development is by stimulating: ;
(1) Toxin production : '(2) Pathogen growth
(3) Immune rgsbonse | ' 4) Hormone secretion
 31. Menstruation is due to sudden drop of:
(1) FSH | (2) Estrogen
(3) | LH i ’ (4) Progesterone
32. Fertilization occui*s iI.l which part of the fallopian tp.be:'
(1) Infundibulum ; (2) Ampulla
(3)' Isthmus v ' - 4) Fimbriae
33. ART used for fgéle irifertility where _éperm is directly injected into the
ovum:
) VP - e @ ICSI
3 GIFT e @) ZIFT
34. Artificial seed production uses:

(1) Pollen (2) Somatic embryos

(38) Ovules | (4) Zygotes

UG-EE-2025 (Bachelor of Science (Genetics)) Code-B ¢
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35. [In angiosperms, triple fusion results in:
| (1) Zygote : ' (2) Ovule
(3) .Endosperm - | (4) Embryo sac
36. . | Which organism can reproduce through binary ﬁ_ssionv and also form
| spores? |
(1)‘ Paramecium (2) Amoeba
3) Rhi‘zopus | @ Plasmodium.'
37. Whicﬁ of the following is a bacterial STD? |
| (1) AIDS &l (2 Herpes
| (3) Gonorrhea Iy . (4 ‘Warts
‘ 38. ApdmiXié is used in agriculture to: ’
(1) | Inpreaée hybrid vigor
(2) Increase recoinbination |
(8) "Avoid fertilization
(4) Prpduce genétiéally variable seeds
39.

Fragmentation occurs in:

(1) HYdlfa (2) -Spirogyra ;

(3) Amoeba | | (4) - Yeast

UG-EE-2025- (Béchelor of Science (Genetics

\

® ) ACodﬁe-B‘ -



.SET-X

Code-B

[ Question - ] .
No. Questions
40. The function of the synergids in the embryo sac is to : e

: .(1() Produce endosperm
(2) Help in fertilization by guiding pollen tube
(3) Develop into zygote

(4) Form antipodals

41. Preservatives in food prevent :

(8) Oxidation e (4) Emulsification

(D Change in flavor "~ (2) Growth of microorganisms

42, Which is a commonly used antioxidant in packaged food?

(1) BHT : N ) VitaminBcbmplex

(3) Sodium chloride . (4) Lactic acid

43. Which is a disinfectant?

(1) Silver nitrate

(2) Tincture iodine

3) Hyﬂrogen peroxide (strong solution)

(4) Zinc

UG-EE-2IO25 (Bachelor of Science (Genetics)) Code-B
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44, Which soap molecule part interacts with oil and grease?
(1) Hydrophilic head .(2) Tonic grbup
(3) Hydrophobic ‘tai] (4)  Water molecule
. 45. Electrolysis involves:
(1) Magnetic field
(2) Heat conduction
3) Chemicél decomposition by electricity
_(4) A Radfoactivity
46. Which of the following is an example of a macromolecular colloid?
(1) Milk @ Rubber
(3) Smoke | | (4) Fog
47. Which compound ‘éan be used as both antiééptic and disinfectant?
(1) Hydrogen per'oxide ~ (2)  Penicillin
(3) Sodium benzoate (4)  Ampicillin
48. | The basic uniig of a crystalline solid is called:

(1) Lattice point . (2)  Unit cell

(3) Atom o 4). | Molecule

UG-EE-2025 (Bachelor of Science (Gene'tics)) Code-B
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49. Which of the fo]low1né-l—)—c_s_tﬂd_gs_crl—l;_c—s_sbap?_-—“_
(1) Acidic salts of long-chain fatty acids
(2) Basic salts of fatty acids
(38) Neutral esters
(4) Acidic & Esters
50. | Macro element essential for plants is :
(1) Tron - ' (2) Zinc
(83) Calcium ; 4) VCOPPeI'
51. Thg role of Agrobacterium tumefaciens in genetic engineering is :
(1) Antibiotic productién o ‘(2) Indpcing tumors
(3) Delivering genes (4) I. Inducing fertilization
52. | What type of vaccine is produced usi-ng‘ recombinant DNA teéhnology?
(1) Killed pathogen © (2) Live-attenuated vaccine
3) Subunit vaccine ‘ (4) Toxoid vaccine
53. The primary goal of the Hur‘nan} Genome Project was to:

(1) Create synthetic DNA
(2) Identify all genes in human DNA
(8) Cure genetic disorders

(4) Engineer superhumans

UG—EE—2025 (Bachelor of Smence (Genetlcs)) Code-B
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;I: Which method is commonly used to insort foreign DNA into cells?
(1) Centrifugation - (2)  Electroporation
(3) Chromat‘ography (4) Spectroscopy
55. Which is a concern associated with GM grops?
(1) Reduced yield ‘ (2) .Nutrien't deﬁ‘cicncy
3) Biosafet& and ecologicaln impact (4) Short.shelf life
- 56. Which of the following best defines a niche in ecology?
(1) Total area occupied by a species
(2) Role and position a species has in its envirbhment
(3) Number of ihdividuals in ‘a population
4) »Type of food consumed by ’@he speciés
57. In mutualism,

(1) One species benefits, the other harmed

(2) Both species are benefitted
(3) One species benefits, the other unaffected

(4) Both species are neutral

UG-EE-2025 (Bachelor of Science (Geneticé)) Code-B
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- °58. Which of the fol]owmg—_{; NOT 'ah dons1ty depcndent population |

attribute?
(1) Birth.& deatll rate (2) Population density
(3) Species distribution ' | (4) ‘ Earthquake

59. The pyramid of biomass in ferrestrial ecosystem 1s :
(1) Always inverted (2) Always upright
(3) Diamond-shaped (4) Not defined

60, Which of the following cycles does carbon fiyhcation belong to?
(1) Nitrogen cycle ; (2) Pbosﬁhorus cycle
(3) Sulphin'~ cycle - ; 4) ~ Carbon cycle

61. Which of thg following is a property of érystalline sblids?
(1) Irregular shape (2 | Sharp melting poiht
(38) Isotropic nature - 'l o (4) . No definite structure

62. |An exémple of an amorphous solids is 3 .

(1) Quartz  (2) Sugar

(35 .Glass_ 4) Diamond

UG—EE—2025 (Bachelor of Scmnce (Genetlcs)) Code—B
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6N:; | Which of fhe following is not a type of bindihg force in solids ?
(1) lonic (2) Metallic
(3) Hydrogen bonding (4) Gravitational
64. Which of the following represents a suspension? .
| M Blood® ~ (® Muddy water
(8) Salt in water ‘ e (4) Air
65. | A true solution is: |
(1) AHetefrogeneous and transparent
(2) Homogenéous and transparent
(3) Heterogeneous.‘and opaque
4) »Hom'ogenedus and opaqﬁe
66. | A characteristics of lyophobic colloids is:
(1) High stability‘ _ | (2) = Strong affinity to solvent
(3) Easily coagulated | | (4) Self~preparin.g
- 67. | Which law states that the mass of substances cieposited during.

electrolysis is proportional to the quantity of electricity passed?
(1) Ohm’slaw (2) Faraday’s first law

(3) Faraday’s second law - (4)  Avogadro’s 1aw

UG—EE-2025 (Bachelor of Smence (Genetlcs)) COde-B
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68. A substance used to dcstroy or ﬁlill])?t ;ﬁ;é;bb(«z;gr“lﬁh:/.;r{g tissues is:
(1) Disinfectant (2) Antiseptic
(3) Antibiotic (4) Preservative

69. | Antacids heip to relieve: PN IR
(1) Bacterial infections (@ Allergies
(3) Headache (@) Acidity

| 70. | Which is not an artificial gweeten?r{é—ég—é-ﬂg;’ L 3T
| (@) Sucralose - (2) Saccharin

3) Glﬁcose (Ll (4) Aspartame

71. HIV primarily attéci{s which type'of immuhe cells:
(1) B-Cells ' , | (2) Cytotoxic T-cells

(3) Helper T-cells (4) Natural killer cells

72. Adolescence is the period between the ages of :
(1) 6-12years ‘ ' ' : (2) 10—19. years

(3) 18-25 years | '(4) 1-byears

73. Long-term alcohol abuse can be detected by dysfunction of :

(1) Lungs s - (2) Liver

4) I.ntestine{’

'(3) Pancreas
/
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74. | Which of the following is used in single-cell protein production?.
[ (1) Saccharomyces cerevisiae (2) Rhizobium
(8) Mucor (4) Spirulina
75. | The aim of biofortification is to : |
(1) Increase food yield , (2) Increase taste 6f food
3 Ixﬁprove nutrient qﬁality (4) Decrease fertilizers
76. Apiculture involves the managemenf of :
(1) Silkworms @) Honeybees
3) Fish - . ' (4) Poultry
Vir 8 Artiﬁcial iﬁseminétion is comrﬁonly used in:
(1) Animal tissue culture - (2) | Arﬁmal husbandry
(3) 'Cioning 18 4) .Cross—pollination
78. Lactobacillus is importarit in the production of :
(1) 'Dhokla o - | (2) Dosa
(3) Yogurt ) Soft drinks
79. Methane is produced during sewage treatinent by:
(1) Methanogens (2) Cyanobacterig
(3) Fungus | - - (@) . Algae

L UG-EE-2025 (Bachelor of Science (Genetics)) Code-B
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80. Trichoderma species act as:
(1) Antibiotic producers (2) Biocontrol agents
(8) Fuel producers (45 Vitamin supplement
81. | Which of the following is an outbreeding device?
(1)‘ Bisexl;al flower 5 ‘ (2) Self-incompatibility
3) Fertilizatiof} (4) Anther dehiscence -
82. Doubie fertﬂizéfioﬁ is a characteristic feature ef :
Q) Gymnosperﬁs : e . @) Brybphytes ‘
(3) Angiosperme | .- v (4.:). " ‘Algae
83. Which. of the followmg d_isorders'is ceused by a sex-ﬁnked recessive
gene?
(1) Thaléssem'i-a‘ | oL g " (2) Sickle cell anemia
3) Haemoph;]ia | | @ D'ow‘n’s syndrome
84. In polygenic inheﬁtance, the phenotype is influenced by:

(1) A single dominant gene | (2) A single recessive gene

(3) Multiple genes (4) Environmental factors only

—
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85. | The packaging of DNA into chromosomes involves:.
(1) Lipids | (2) Non histones
(3) Histone proteins (4 RNA polymerasé
86. DNA replication is :
(1) Conservative | - (2)° Dispersive
3) ASemiconservati.ve | (4) Degenerative
87. | Which syndrome is caused by the presence of an extra X chromosome
in males? 7 ‘
(1) Turner’s syndrome _ .(2)- Klinéfelter’s syndrome
(38) Down’s syndrome | | (€] Ed,ward’s_‘.s'yndrome
88. The HardnyeinBerg principle is applicable‘l’mder:
(1) Natural selection | |
(2). Mutation -
(8) Large pbpulation without mutation
4) ’Gene ﬂow
- 89. |

The Lac Operon is an example of ;
(1) Gene amplification (2 Gene deletioh

(3) Gene regulation (4)  Gene mutatijon

(18)



(2) Osmosig

(3) Active Transport

4) Facilitateq diffusion
93.

Polymorphism is best exhibited in:

| (D) "Obelia @ Hydra

(3) Physalia @ Aurelia

74.' Gymnoéberins are characterized by:
(1) Naked seeds. . (2) Enclosed seeds
3) -Flowefs (4) TFruits

95. Which of the following is a complex permanent tissue?

(1) Parenchyma ~(®  Collenchyma
(3) Sclerenchyma (4) -Xylem

L
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96. | Following is involuntary muscle found in hollow organs:
(1) Skeletal - (@) Cardiac
3) Smooth ' (4) Striated
97. | Which tissue helps in dispersal of seed?
(1) Eﬁdosperm | @) Embryo
3) Pericarb . @ _Cotyledon
98. ‘Which structure prevents seif-polhnatioh in plants?
(M Ovule. @ Petal
3) Self-inéorﬁpatibility gene e (4) Integument
99. Which among the following is true about cleistogamous flowers?
(1) Promote éross-pol]ination @) ’ Alw‘ays opeﬁ for pollinators
(3) Do not requife.i:iol]inators _ (4) Do not produce seeds
100. | The acrosome of sperm is derived from:
1) Mitoéhon'dria ' (2)  Golgi apparatus
(3) Nucleus | (4)  Lysosome .
TR S o s '
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1. Marily attacks which type of immune cells:
(1) B-Cells (2) Cytotoxic T-cells
(3) Helper T-cells (4) Natural killér cells
2. Adolescence is the period between the ages of :
(1) 6-12 years (2) 10-19 years
1 () 18-25 years (45 1-5 years
3. Long-term alcohol abuse can be detected by dysfunction of :
(1) Lungs - (2) Liver
(8) Pancreas . (4) Intestine

4. Which of the following is used in single-cell protein production?

(1) Saccharomyces cerevisiae 2) Rhizébigm
(3) Mucor | (4)  Spirulina
5. The aim of biofortification is to :
(1) Increase food yieId (2) Increase taste of food_

| (3) Improve nutrient quality | (4) Decrease fertilizers

6. Apiculture involves the management of :

(1) Silkworms (2) Honeybees

(3) Fish , (4) Poultry

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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7. Artificial insemination is commonly used in:
(1) Animal tissue culture (2) Animal husbandry
(38) Cloning ' 4) Cross—pollination |
8. Lactobacillus is important in the production of :
(1) Dhokla : (2) Dosa
3) Yogurf (4)  Soft drinks
9. Methane is produced during sewage treatment by:
@) | Methanogens | (25 Cyanobacteria
3) Fur;gﬁ's (4) | Algae
10. Trichoderma.species act as:.
(15 Antibiotic producers (2‘)‘ fBio.control agents
(3) Fuel producers " (4) Vitamin supplement
11. | Which of the following is an outbpeeding device?
| (1) Bisexual ﬂowér‘ () (@) | Self-incompatibility
(3) 'Fertilization, " - ‘ (4). Anther dehiscence
12. | Double fertilizatio_n.is a chgractéris_tic feza‘ture of :
(1) Gymnosperr'ns (2) Bryophytes
(3) - Angiosperms (4) Algae

' UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
3 ' (2) g




SET-X

1

(3). Down’s syndrome

Code-C
Q";*fo" Questions
13. | Which of the following ‘disorders is caused by a sex-linked recessive
gene?
(1) Thalassemia (2)  Sickle cell anemia
(3) Haemophilia ‘ (4) Down’s syndromé
14. In polygenic inheritance, the phenotype is i;lﬂuenced by:
(1) A single dominant gene (2) A single recessive gene
(3) Multiple genes (4) | Environmental factqrs only
15. The packaging of DNA into chromosom.es involves: .
(1) Lipids (2) . Non Bigtones
(3) Histone proteins (4) RNA polymerase
16. DNA replication is : -
(1) Conservgtive (2) ‘Dispersive
3) Semic;qnsgx"vati\}e ‘} ' (4) Degenerative
17. Which syxlldromc% is caused by the presence 'of an extra X chromosome

in males?

(1) Turner’s syndrome ' (2) Kliriefelter’s syndrome

(4) Edward’s syndromg

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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18. | The Hardy-Weinberg principle is applicable under:
(1) Na£ura1 selection
(2) Mutation
3) Largé population without mﬁtation
(4) Gene flow
19. | The Lac Operoﬁ is an example of :
(1) Gene arhpliﬁcation (2) Gene deletfon
(3) Gene regulation (4) Gene mutation
20. |Who first performed the experiment demonsfrating bacterial
transformgtion? |
(1) Griffith | (@ Hershey
(8) Avery | ', (4)' 'Wat'son.
21. Which of the following strﬁcture is absent iﬁ bactverial‘cells?
‘(1) Ribosomes (2) Nucleus
1 (3) ‘Plasma'me,mbr'ane' | | 4) .Cel'l wall >
22. | The movement of water across serﬁipermeable membrane is called:

(1) Diffusion - (2) Osmosis

(3) Active Transport ‘ (4) Facilitatgd diffusion

UG-EE-2025 (Bachelbr of Science (Gehetics))'Code-C‘,
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23 Polymorphisni. is best exhibited in:
(1) Obelia (2) Hydra
(3) Physalia : (4)  Aurelia
24. | Gymnosperms are characterized by:
(1) Naked seeds (2) IEnclosed seeds
) (3) Flowers . (4) Fruits
_55—L ”_Which of the_fallowirié is a?:o}nplex permanent tissue?
(1) Parenchyma - (2)  Collenchyma
(3) Sclerenchyma (4) Xylem
26. Following is involuntary muscle fou'nd in hollow organs: |
(1) Skeletal (2) Cardiac
(3) Smooth (4) Striated
27. Which tissue helpé in dispersal of seed?
(1) Endosperm g (2) 'Embryo
(3) Péricarp : (4) Cotyledon
28. Which sfructure prevents self-pollination in plants?

(1) Ovule (@ Petal

(3) Self-incompatibility gene (4) Integument

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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29, Which among the following is true about cleistogamous flowers?
(1) Promote éfos_s-pollination .(2) Always open for pollinators
(3) Do not require pollinators (4) Do not produce seeds
30. The acrosome of si)erin is derived from:
(1) . Mitochondria 3 (2) Golgi apparatus
(3) Nucleus- (4) Lysosome .
31. | Preservatives in food prevent :
(1) Change in flavor | (2) Growth of microorganisms
3 Oxidation @) Emulsification
- 32. Which is a commc;nly used antio'xidant in packaged food?
(1) BHT @ Vitam;n B complex
(3) Sodium chloride ~ - (4) Lactic acid‘
33. | Which is a disinfectant? |
(1) Silver ni_tréte
' (2)1 ’I;'ix;cture iodine
(3) Hydrogen péroxide (strong solution)
(4) Zinc

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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34. | Which soap molecule part intoracts with o1l and grease?
(1) Hydrophilic head (2) Ionic group
(3) Hydrophobic tail (1) Water molAecuile
35. Electrolysis involves: T —
(1) Magﬁetic field
(2) Heat conduction
(3) Chemical decomposition by electricity
(4) Radioactivity
- 36. Which of the following is an example of a macromolecular colloid?
(1) Milk | ‘ (2) Rubber
(3) Smoke 8 _' (4) Fog
37. Which compound can be used as both antisep‘tic and disinfectant?
(1) Hydrogen peroxide (2)  Penicillin
(8) Sodium Benzoate | 4) Ampiéillin
38. | The basic unit of a crystalline solid is cail’eci: :

(1) Lattice point ' (2)  Unit cell

(3) Atom (4) Molecule

ce (Genetiés)) Code-C
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39. | Which of the following best describes soaps?

(1) Acidic salts of long-chain fatty acids
(2) Basic salts of fatty acids
(8) Neutral esters

(4) Acidic & Esters

40. | Macro element_ essential for plants is:
| (1) Iron '(2) Zinc
(3) Calcium (4) Copper
41. | The role of Agrobacterium tumefaciensi in genetic engineering is :
(1) Antibiotic production . (2) Indu;:ing tumors
(3) Delivering genes _ (4) Inducing fertilization
42. | What type of vaccine is produced using recombinant DNA technology?
(1) Killed pathogen ) Live-attenuated v;iccine
(3) Subunit vaccine | (4) T(ixoid vacciné
43. | The primary goal of the Human Genome Project was to: |

(1) Creai:e synthetic DNA
(2) Identify all genes in.hum'an DNA
(8) Cure genetic disorders

(4) Engineer superhumans

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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Questions

Which method is commonly used to insert foreign DNA into cells?
(1) Centrifugation (2) Electroporation

(3) . Chromatography : (4)  Spectroscopy

45.

Which is a concern associated with GM crops?
(1) Reduced yield (2)  Nutrient deficiency

(3) Biosafety and ecological impact (4)  Short shelf life

46.

Which of the following best defines a niche in ecoloéy?
(1) Total area occupied by a species

(2) Role and position a species has in its envirqnment
(3) Number of individuals in a population

(4) Type of food consumed by the species

47,

In mutualism,

(1) One species benefits, the other harmed
(2) Both species are beneﬁtted

(3) One specié.s'beneﬁts, the other unaffected

(4) Both species are neutral

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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48. | Which of the following is NOT a density- dependent ‘population

attribute?
(1) Birth & death rate (2) Population density
(8) Species distribution ' 7 (1) Earthquake

SET-X

COdB-_—C

49. The pyramid of biomass in terrestrial ecosystem is :
(1) Always inverted (2) " Always upright |

(3) Diamond-shaped ‘ (4) Not defined

o eee e e on e o

50. Which of the foliowmg cycles does carbon fmdtton belong to?

(3) Sulphur cycle (4) Carbon cycle

(1) Nitrogen cycle ' (2) Phosphorus cycle

51. | The central dogma of molecular biology is :

(1) DNA — RNA — Protein (2) RNA — DNA - Protein

(3) Protcin - RNA>DNA * “ (4)  RNA - Protcin - DNA

52. | Evolution through mutation'and recombination is explained in:

(1) Darwin’s theory (2) ' Modern synthetic theory

(3) Lamarkism. (4) Catastrophism '

UG-EE-2025 (Bachelor of Science (Genetlcs)) Code Cc
(10)




SET-X

e — | | ' ' Code-C
No. | Questions
53. Which of the following is a chromosomal disorder?
(1) Haemophilia : (2) Thalassemia |
(8) Colour blindness (4) Turner's syndrorﬁe'
| 54. | Which type of evolution is indicated by tHe presence of similar
anatomical features in different species?
(1) Divergent evolﬁtién (2) Adaptive radi’étioln'
(3) Convergent evolution @) Artiﬁci{al'v/sélecffon
55. Thalaséenﬁa affects:~
(1) ..Blood clottihg . (25 Melanin p;'oduction
(3) Hemoglobin formation (4) Bleeding disordcf
56. Which of the following is a méchaﬁism of evolution?' |
(1) Food chaiﬁ | (2) Reproductiqn |
(83) Natural sellectionv . I (45 Carbon dlativng | |
57. | Genetic.drift is mogt likely to occur in:

(1) Large populations
(2) Populations under selection pressure
(3) Small isolated populations

(4) Mutated populations only Seabiilansn

UG-EE-2025 (Bachelor of Science (Genetics)) Code-Ci 1) aius
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58. | Typhoid is transmitted primarily through:

: water
(1) Insect bite (2) Contamlnated
i cts
(3) Sexual contact (4) Air drop! 8

59. |Ringworm is caused by a:
(1) Bacterium (2) Virus

(3) Protozoan (4) Fungus

60. [ Vaccines development is by stimulating:

(1). Toxin production (2) Pathogen growth

(8) Immune response (4) Hormone secretion

61. | Primary productivity refers to :

(1) Enérgy released during respiration

(2) Enérgy available at the top level of pyramid
(3) Amount of biomass produced by consumers

(4) Rate of biomass production by produéefs

62. The term “hotspot” in biodiversity refers tb areas thz;t :
(1) Are extremely hot

(2) HaQé Ibw b'iodiversity & more habitant

(3) Are rich in endemic species and under threat

(4) Have only endangered species °

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C.
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63. | Red | Data Book is maintained for :
(1) Extinct animals (2) Extinct plants

(3) Endangered species (4) Living fossils

e —

.

64. | Which zonc has maximum biodiversity?

(1) Arctic & Antarctica (2) Desert ccosystems
(3) Temperate forests o (1) Tropical rainforests

65, 1’75;:};55_19 mainly responsible for ozone layer depletmn" .
(1) CO: (2)+ CHj
3) CFés (4) SO:

66. An example of in situ biodiversity conservation is :

(1) Seed bank (2) | Botaniqal gar;derylx |
(3) National Park_ : | (4) Zoological paxl"k | |

67. | The main cause of radioactive increase in the environment is :
(1) Automobile exhaust (2) = Nuclear power plants

(3) :Ozone depletion (4) < Open defecation

UG-EE-2025 (Bachelor of Science (Genetlcs)) Code-C
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68. | Which of m}mToﬁav—i‘;g_Bollutants is prin—l—arily responsible ‘for acid
reinf?
(1) CO: | | (2) SO
@) Os (4) CHi
69. | Which of. the.following ie a consequence of deforestation?
(1) Increased oione
(2) Enhanced carbon fixation i |
(3) ' Soil erosion |
(4) Decrease in greenhouse gases
70. | Which of the following is aﬁ effect of the greenhoﬁse effect?
()a-Qzane formatio.r_l |
(2) Increase in Earth’s _avex:age tempereture
® Ozomehole |
4) .De‘ser‘tiﬁcation iﬁ ;pv‘olar regions
71. Which of the following is a property of erystalline solids?
(1): Irregular shape ST (2)° Sharp melting point
(3) «Isotropic-nature (4). No definite structure

UG-EE-2025 (Bachelor:of Science'(Genetics)) Code-C
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72. An example of an allia'i)-}{ous solids is :
(1) Quartz . (2) Sugar

3) G135§ (1) Diamond

73. | Which of th—egl—l_(_)\;i—r;;i‘s not a type of binding force in solids ?.
(1) Ionic ' (2) Metallic

(3) Hydrogen bonding - (4) Gravitational

74. | Which of the following represents a suspension?

(1) Blood (2) Muddy water
(3) Salt in water ) Air |
| 75. | A true solution is :

(1) Heterogeneous and transparent
(2) 'Homogeneous and transparent
(83) Heterogeneous and opaque

(4) Homogeneous and opaque

76. | A chéracteristics of lyophobic éollqi'ds is :
(1) High stability (2) Strong affinity to solvent

(3) Easily coagulated' | (4) Self-preparing

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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77. |Which law states that the mass of sm deposited - during
| electrolysis is proportional to the quantity of electxficity passed?

(1) Ohm’s law | (2) Faraday’s first 1aw
(3) TFaraday’s second law (4) Avogadro’s law

78. | A substance ﬁsed to destroy or inhibit microbes on livin.g tissues is:
(1) Disinfectant - ) ‘(2) Antiseptic | |
3) Antibiotic | | .(4) | Pr('elserval.t'i}/é

79. | Antacids help to ;elieve:
(1) Bacterial infections . ) Allérgies .
(3) Headache @ Acdity

80. | Which is not an artiﬁcia‘ll‘ swée{tenin‘g agent? | ' |
(1) Sucralose: '  (2). Saccharin |
(3) Glucose - | | ‘ (4). Aspartame

81. |Menstruation is due to sudden drop of:

(1) FSH () (2) Estrogen .

(3) LH | (4) © Progesterone

\
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82. | Fertilization occurs in which part of the fallopian tube:
(15 Infundibulum (2) Ampulla
(3) Isthmus . . (49) Fimbriae

B 83. | ART used for male infertility where sperm is directly injected into the

ovum:
(1) IVF @ IS
3) GIFT | (4) ZIFT

84. | Artificial seed production uses:
(1) Pollen . | (2) Somatic embryos
(3) Owvules | . (@) Zygotes

85. |In angiosperms, triple fusion results in:
(1) Zygote - (2) Ovule
(3) Endosperm - ‘ (4) Embryo sac

86. Which organism can reproduce through binary fission and also form

spores?
(1) Paramecium A (2). Amoeba
(3) Rhizopus (4) Plasmodium

G-EE-2025 (Bachelor of Science (Genetics)) Code-C
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87. | Which of the following is a bacterial STD?

(1) AIDS - (2) Herpes
(3) Gonorrhea (4) Warts
88. | Apomixis is used in agriculture to:

(1) Increase hybrid vigor
(2) Increase recombination
(38) Avoid fertilization

(4) Produce genetically variable seeds

89. Fragmentation occurs in:
(1) Hydra (2) Spirogyra
(3) Amoeba _ @ Yeast

90. | The function of the synergids in the embryo sacis to :
(1) Prodﬁce endosperm

(2) Help in fe;rtilizatior} by guiding pollen tube

(3) Develop into zyg;)te |

(4) Form antip odalé'

UG-EE-2025 (Bachelor of Science‘ (Genetics)
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91. | Which technique is primarily used in recombinant DNA technology?
(1) Southern Blotting (2) PCR
(3) Gene cloning (4) Northern blotting

_‘92. Bt toxin gene has been cloned from:

(1) Agrobacterium | (2) .Rhizobium
(3) Bacillius thuringiensis (4) Escherichia coli

93. What is the main purpose of gene therapy?
(1) Replace defective genes | (2) Clone organisms
(3) Cure disease (4) Create Super genes

94. | Golden rice is a genetically modified crop rich in: :
(1) Iron (2) Vitamin A
(3) Vitamin C (4) Calcium

95. Which of the following organism is used for producing human insulin?
(1) Agrobacterium , (2)  Bacillus
(3) E.coli ' - (4) Yeast

96. | Biosafety protocols airh to:

(1) Improve productivity (2) Protect biodiversity

(3) Reduce pollution (4) Enhance shelf-life

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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97. | The term ‘biopiracy’ refers to :
(1) Illegal cloning
(2) Patent violation of indigenous knowledge
(3) Unsafe vaccines
(4) Unauthorized use of antibiotics

98. | In genetic engineering, restriction enzymes are used to: A
(1) Join DNA (2) Ligate DNA
(3) Cut DNA (4) Denature DNA

99. | Bt crops are genetically modified to : g
(1) Increase nutrient content (2) Resist herbicides
3) Prod‘uce insecticidal protein  (4) Resist viral infections

100. (A vectof must have which one of the following features:

(1) Small size & Origin of replication
(2) Origin of replication & antibiotic resistance
(3) Small size & Antibiotic resistance gene

(4) Antibiotic resistance

UG-EE-2025 (Bachelor of Science (Genetics)) Code-C
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1. Menstruation is due to sudden drop of:
(1) FSH | | (2) Estrogen
3) LH (4) Progesterone |

2. Fertilization occurs in which part of the fallopian tube:
(1) - Infundibulum | (2) Ampulla
(3) Isthmus | . 4) Fimbriae

3. ART used for male infertility.where' sperm is directly injécted into the
ovum:
) VR - @ ICSI
3) GIFT | @ ZIFT

4. Artiﬁci_al .seed. i)rodﬁctic?n uses: =
O Pollen @ Somatic embryos
(3) Ovules o 4) Zygotes

5. ‘

In angiosperms, triple fusion results in:
(1) Zygote (2) Ovule

3) .Endosperm ' (4) Embryo sac

_'UG-EE-_20.25 (Bachelor of Science (Gehetics)) Code-D
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6. Which organism can reproduce through binary fission and also form
spores?
(1) Paramecium (2) Amoeba
(3) Rhizopus ‘ 4) Plasfnodium
7. Which of the following is a bacterial STD?
(1) AIDS | | | (2) Herpes
3) Gonofrhea . t | A - (4). Warts'
8. Apomixis is used in agriculture to :
1@ ‘Increa.se' hybrid vigor
. —(2) Increase recombination
(3) Avoid fertih'zation’
(4) Produce genetically variable seeds
9. Fragmentation occurs. in:
(1) Hydra ' (2) Spirogyra
(3) Amoeba (4) Yeast

UG-EE-2025 (Bachelor of Science (Genetics)) Code-D
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10. The function of the synergids in the embryo sac is to :

(1) Produce endosperm
(2) Help in fertilization by guiding pollen tube
(38) Develop into zygote

(4) Form antipodals

Preservatives in food prevent :

11.
(1) Change iI} flavor . : | (2) Growth of microorganisms
(3) Oxidation (9 Emulsification
12. Which is a commonly used antioxidant in packaged fc')od?
(1) BHT (2)- Vitamin B complex
(3) Sodium chloride 4) | -'Lactic acid.
13. | Whichisa disinfecta;nf?

(1) Silver nitrate
(2) Tincture iodine

(3) Hydrogen peroxide (strong solution)

(4) Zinc

UG-EE-2025 (Bachelor of Science (Genet
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14. | Which soap molecule part interacts with oil and grease?
(1) Hydrophilic head (2) Ionic group
(3) Hydrophobic tail (4) Water molecule ;
Electrolysis involves:

15.

(1) Magnetic field
(2) Heat conduction
(8) Chemical decomposition by electricity

4) Radioéctivity

16. | Which of the foliowing is an,examﬁle of a macfoniolecular colloid?
@ Mk @ Rubber |
|® Smoke | @ P
17, Wh1ch compound can be used as both antiseln)tic.and disir;fectant? |
1 (1) Hydrogen peroxide : (2) Penicillin
(3 Sodium benzoate (4 Ampicillin |
18. . | The basic unit of a Crystailine solid is cailéd:

(1) Lattice point (2) ' Unit cell

(8) Atom E I(4) Molecule

- UG—EE-2025 (Bachelor of Science (Génetics)
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"~ 19. _Which‘o_f_t-he following best describes soaps?
(1) Acidic salts of long-chain fatty acids
(2) Basic salts of fatty acids
(3) Neutral esters
(4) Acidic & Esters
 20.. | Macro element essential for plants'is :
(1) - Iréh _ | (2) Zinc
(3) Calcium | | (45 Copper-
21. | Primary productivity refers to : ‘

(1) Energy released during respiration
(2) Energy ayailable at the top level of pyramid
(3) Amount of biomass produced by consumers

(4) Rate of biomass production by producers

22.

The term “hotspot” in biodiversity refers to areas that :

(1) Are extrgmely hOt, i

(2) Have ‘low biodiversity & more habitant
(3) Arerichin endemic species\and under threat

(4) Have only endangered species

UG—EE-2025,(Bachelor of Scien
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23. | Red Data Book is maintained for :
(1) Extinct animals | (2) Extinct plants
(3) Endangered species (4)' Living fossils

24. | Which zone has maximum biodiversity?
(1) Arctic & Antarctica | | (2) Desert ecosystems
(3) Temperate forests (4 Tropical rainforests

25. Which gas is mainly responsible for ozone layer depletion?
(1) COsq : g (@ CH,4 |
8) CFCs : ‘ 4) SO

. 26. | An example of in situ biodiversity conservation is :
(1) Seed bank - | (2) Botanical garden.

(8) National Park . (4)  Zoological park

27. | The main cause of radioactive increase in the environment is :
(1) Automobile exhaust (2) . Nuclear power plants

(3) Ozone depletion "~ (4) Open defecation

28. | Which of the following pollutants is primarily responsible for aci

rain?
(1) Co, (2 SO,
3 Os - ‘ (4) CH,4

UG-EE-2025 (Bachelor of Science (Genetics)) Code-D
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29. Which of the following is a consequence of deforestation?

(1) Increased ozone
(2) Enhanced carbon fixation
(3) Soil erosion

(4) Decrease in greenhouse gases

30. Which:_of the following is an effect of the greenhouse'effect?
(1) Ozbne formation | |
(2) Increase in Earth’s a;\rerage temperature
3) Ozone hole
(4) Desertiﬁééﬁion in polar regions
31. Which ’;echnique is primarily used in recombinant DNA technology?
(1) Soutﬁéfﬁ Bloftiﬁg b= = (2)~ PCR
(3) Gene cloning ' (4) Northern blotting
32. | Bt toxin gene has been cloned from:

(1) Agrobactérium (2) Rhizobium

(3) Bacillius thuringiensis . (4) Escherichia coli -

—
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33'_ .| What is the main purpose of gene therapy?
(1) Replace defective genes (2) Clone organ_isms
"1 (8) Cure disease L (4) Create Super genes |
34.. | Golden rice is a genetically.modiﬁed crop rich in: |
(1) Iron | (2) Vitamin A
3) Vitamin C - @) Calcium
55. Which of the following organiém ‘is uéed for producing hgman insulin?v
(1) Agfobacterium ' (2) Bacillus
3) E.. coli | : .  (4) Yeast
36.. Biosafety protocols aim to :
(1) Improve productivity - (2) Protect biodiversity
| ® Reduce pollution | (4) -Enhance shelf-life
317. The term ‘biopiracy’ refers to :

(1) Ilegal cloning
(2) Patent violation of indigenous knowledge

(3).  Unsafe vaccines

‘| (4) ' Unauthorized use of antibiotics

UG-EE-2025 (Bachelor of Science (Genetics)) Code-D
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38.. In genetic engineering, restriction en;z,ymes are used to :
(1) Join DNA (2) Ligate DNA
(3) Cut DNA (4) Denature DNA
39. Bt crops are genetically modified to :

(1) Increase nutrient content (2) - Resist herbicides

3) Produce insecticidal protein (4) Resist viral infections

40.

A vector must have which one of the following features:
(1) Small size & Origin of replication

(2) Origin of réplicatio_n & antibiotic resistance

3) Sméll size & Antibiotic resistance gene

(4) Antibiotic resistance

41.

The centrai dogma of moleculaf biology is :
(1) DNA — RNA — Protein (2) RNA — DNA — Protein

(3) Protein - RNA — DNA (4) RNA — Protein - DNA

42,

Evolution through mutation and recombination is explained in:

(1) Darwin’s theory (2) Modern synthetic theory

3) Lamarkisfn (4) Catastrophism

UG-EE;2025 (Bachelor of Scien
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43. | Which of themfc-)ﬁc—){;rEg is a chromosomal disorder?
(1) Haemophilia - (2) Thalassemia

(3) Colour blindness (4) Turner’s syndrome

44. | Which type of evolution is indicated by the presence of similar
anatomical features in different species?
(1) Divergent evolution (2) Adaptive radiation

(3) Convergent evolution (4)  Artificial selection

" 45, Thalassemia affects:

(1) Blood clotting (2) Melanin production

(3) Hemoglobin formation (4) Bleeding disorder

46. Which of the following is a mechanism of evolution?
(1) Food chain _ 2) - Reproduction

(3) Natural selection ’ (4) Carbon dating

47. Genetic drift is fnost likely to occur in:

| (1) Large populations

(2) Populationé under selectio;l pressure
(3) Small isolated populations

(4) Mutated.populations only

. UG-EE-2025 (Bachelor of Science (Genetics)) CodeD'
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4$. Typhoid is transmitted primarily through:
(1) Insect bite (2) Contaminated water
(8) Sexual contact (4) Air droplets
49. Ringworm is caused by a :
(1) Bacterium (2) Virus
(3) Protozoan : : (4). Fungus
50. | Vaccines development is by stimul.ating:
(1) Toxin production 2) Pathoger'l growth
3) Immune response | 1) Horﬁone secretion
51. Which of the following is an 6utbreeding device?
1) Bisexual flower (2) Self—iﬁcompatibility
(3) Fertilization .(4) ' Anther dehiscence
52. DoAuble fertilization isa gh‘aracteristic feature of : |
(1) Gymnosperms. o (25 Bryophytes
(3 Angiosperms e @ Algae
53. Which of the following disorders is caused by a sex-linked recessive

gene?
1) Thélassemia e s AL ) Sickle_ cell anemia
(3) Haemophilia (4) Down’s syndrome 4

UGQEE—2025 (Bachelor of Science (Genetics)) Code-D
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54. |In polygemc 1nhe1 itance, the phenotype is influenced by:
(1) A single dominant gene (2) A single recessive gene
(3) Multiple genes (4) Environmental factors only
55. The packaging of DNA intovchromosomes involves:
(1) Lipids . : ' (2) Non histones
|1 (3) Histone proteins | : (4) RNA polymerase
56. DNA replieation is} . . |
(1) ‘ Conservative (2) Dispersive
[ (3) Semiconservative - (4 Degenerative
97. | Which syndrome is caused by the ~prese-nce of an extra X chromosome
In males? | | |
‘(1) Turner’s syndrome _ ! e (2) .Klinefelter’s syndrome
(3) Down’s syndron1e . : (4). - Edward’s syndrome
58. The Hardy-Weinberg principle is appiicable under:

(1) Natural selection
(2) Mutation
3) Large population without mutation

(4) Gene flow

UG-EE-2025 (Bachelor of Science (Genetlcs)) Code.])
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59. The Lac Operon is an example of :
(1) Gene amplification (2) Gene deletion
(3) Gene regulation (4) Gene mutation
60. Who first performed the experiment demonstrating bacterial
transformation?
(1) Griffith | ~ (2) Hershey
(3) Avery . | (4)  Watson
61. HIV primarily attacks which type of immune cells:
(1) B-Cells (2) Cytotoxic T-cellé '
(8) Helper T-cells (4) Natural killer cells
62. Adolescence is the period between the ages of : ‘
(1) 6-12 years (2) 10-19 years
(3) 18-25years - | 4) 1-5years
63. Long-term aléohol -abi;ée can be detected by dysflin.ction of :

(1) Lungs - o (2) Liver

_(3) Pancreas (4) Intestine

UG-EE-2025 (Bachelor of Science (Genetics)) Code-D
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64. Which of the following is used in single-cell protein production?
(D Saccharomycés cerevisiae (2) Rhizobium
(8) Mucor | | - (4) Spirulina
65. | The aim of biofortification is to :
(1) Increase food yield > M (2) Increase taste of food
(3) Improve nutrient quality @ Decreése fertilizers
66. Apiculture involves the management of :
(1) Sﬂkworms | | () Honeybees.
(8) Fish . . (4)  Poultry
67.. Aftiﬁcial in‘semina.tion 18 commonly used in: |
1) Animél 'tisé.ue‘ culture " (2) Animal husb_andry
(3) Cloning r . (4) Cross=pollination
68. Lactobacillus is importahé in the production of :
1 (D) Dhokla | (2) Dosa
(3) Yogurt K ~(4) Soft drinks
69. Methane is produced during sewage treatment by:
(1) Methanogens (2) Csranobacteria
3) Fﬁngus . 4) Algae

.--UG-EE=-2025 (Bachelor of Science (Genetics)) Cd_de-D
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70. Trichoderma species act as:

| (1) Antibiotic producers (2) Biocontrol ageﬁts
(8) TFuel producers (4) Vitamin supplément

71. The role of Agrobacterium tumefaciéns in genetic engin;:ering is :
(1). Antibiotic production ‘ (2) Inducing tumors
(3) Delivering genes (4) Inducing f;artilization

72. What type of vaccine 1s prbdilced using reCombinént DNA technology?
(1) . Killed pathogen - 268 | (2) Live-attenuated vaccine
(8) Subunit Véccine (4) Toxoid vac‘cinev

73. | The primary goal of the Human Genome Project was to:
(1) Create syn‘_chétic DNA
(2) Identify all genes in human DNA
(3) Cure genetic disorders
(4) Engineer éupcrhurhans

74. Which method is commonly used to iﬁsert foreign bNA into cells‘?

(1) Centrifugation (2) Electroporation

3) Chromatography (4) Spectroscopy

UG-EE-2025 (Bachelor of Science (Genetics)) Codé-D

(15)




SET-X
Code-D

QuI(iIstion ~ Questions
0.

75. | Which is a concern associated with GM crops?

(1) Reduced yield (2) Nutrient deficiency

(3) Biosafety and ecological impact (4)  Short shelf life

76. Which of the following best defines a niche in ecology?
(1) Total area occupied by a species

(2) Role and position a species has in its environmgnt.
B) N u£nber of indiﬁdlials in a-populat'ion

(4) Type of food cdnsﬁmed by the species

717. In ﬁutualism,

(1)». One species beneﬁts, the other harméd
(25 Both species aré beneﬁt.ted

3) Onerspecies benefits, the other unaffected

(4) Both species are neutral

78. |Which of the following is NOT a ‘density'-dependent population

atfribute?
(1) Birth & death rate (2)  Population density

(8) Species distribution (4) Earthquake
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29. The pyramid of biomass in terrestrial ecosystem is :
(1) Always inverted (2) Always upright
(3) Diamond-shaped (4) Not defined
80. Whlch of the following cycles does carbon fixation belong to?
(1) Nltrggen cycle , 2) ' Phosphorus cycle
3) Sﬁlphur cycle , ] (4)  Carbon cycle
81. | Which of the following sfructure is absent in bacterial cells?
(1) Rlbosomes T (@ Nucleus
,(3) Plasma membrane _ (4)  Cell wall g
82. |[The movelpeﬁ;t of water acréss semipermeable membrane is called:
(€)) Diffusion.- Sl - (2) Osmosis
(3) Actlve Transport : . ' ~(4)  Facilitated diffusion
83. | PQIymorphxsm is best exhibited in:
| @ Obelia ' (2) Hydra
('3). PhYsalié o . 4 (4) Aurelia
r 84. Gymnosperms are characterized by: ‘

(1) Naked seeds (2) Enqlosed seeds

(3) Flowers _ x (4)  Fruits
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85. | Which of the following is a complex Permanent tissue? b
(1) Parenchyma ‘ 2) i, Collenchyma -
3) Sclerenchyma i (4) + Xylem
86. Follov'vin‘g is involuntafy muscle found in hollow organs: s |
(1) . Skeletal (2) Cardiac
(3) Smooth . | ; (4) Striated
87. Which tissue helpsvir.lvdisp_e'rsal of seed? 18]
(1) Endosperm | TEROTN (2). Eﬁlbryd
3 Pe‘ricarp ™ - ' (4).. Cotyledon
88. | Which structure preveﬁt_s self-pp;]‘%na,tion in plants?
(1)  Ovule . ;s 1 (2)  Petal
3) Self-incompatibility.g.en,e. | ; ) (4)> Integument
89. | Which émong the following is true aBOut cleistogamous flowers? .
(1) Promote cross-pollination. (2 Alwayé open for pollinators
(3) Do not require pollinators (4) Do not produce seeds
90; The acrosome of sperm is deri§ed from;:
(1) Mitochondria (2 Golgi apparatus
(3) Nucleus (49 Lysosome
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9>1. Which of the following is a property of crystalline solids?

(@) Irregﬁlar shape ‘ (2) Shérp melting point |

3) .Isotropic nature @ 'No definite structure

92. An example of an amorphous solids is :
(1) Quartz i (2) Sugar

(8) 'Glags e otion -1 % (4) Diamond

- 93. | Which of the followihg is not a type of binding force in solids ?
(1) Ionic | . (2) Metallic

(3) Hydrogen bonding' (49 Gravitational

94, Which of the following represents a suspension?

Muddy water

(1) Blood ©)

(B) Salt in water @) Air '

95. | A true solutionis:

| @D Hetero_gengpus énd transparent
(2) Homogeneous and transparent
‘(3) ' Hetéroge’héo’us and Opaqﬁe

(4) Homogeneous and opaque
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96. | A characteristics of lyophobic colloids is :
(1) High stability ~ (2) Strong affinity to solvent
(3) Easily coagulated (4) Self-preparing

97. |Which law states that the mass of substances deposited during
‘ . o« o ()
electrolysis is proportional to the quantity of electricity passed?

(1) Ohm’s law (2 Faraday's first law

-~
~ i

(8) Faraday’s second law (4) Avogadro’s law

98. | A substance used to destroy or inhibit microbes on living tissues is:
(1) Disinfectant | ' (2)  Antiseptic

(3) Antibiotic 0 Y Pregervative

VRO Y OnPAMN gy
AL TR AR
v TRy

99. | Antacids help to relieve:
(1) . Bacterial infections . -, .. s (2)‘ ‘Aille‘r_gi'es. ;

(3 Headache . (4) Acidity

100. | Which is not an artificial sweetening agent?

‘(1) Sucralose . | (2) Saccharin
(3) Glucose ' (4) Aspartame
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